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R o | BT e | B2 | e | e | B2 | BT e | B2 | TR | | e
’ 100kN/m%#B 2 % 1.00/0.00 ~ 1.32 119.98| 3m%E#BZ 3| - ~ - - -] 100kN/mMZ#% % 1.00| 11.53 ~ 15.99 119.98|3m%E#BZ % -~ - - -
ZFhst 1.00[1.32 ~ 9.10 100.00[ Zxust [ 0.00 ~ 9.10[ 2.63 14.09 Fhst 1.00] 5.00 ~ 11.53 100.00f Zhlust | 500 ~ 15.99| 263 14.09
) 100kN/m%# 2 % 1.00/0.00 ~ 0.45 106.59| 3m%E#BZB| - ~ - - -] 100kN/mM%Z#% % 1.00| 11.78 ~ 13.47 106.59|3m%E#EZ % -~ - - -
Fhst 1.00/0.45 ~ 8.23 100.00[ x5t [ 000 ~ 8.23| 1.98 10.59 Fhst 1.00] 5.00 ~ 11.78 100.00f Zhlust | 500 ~ 13.47| 1.98 10.59
3 100kN/ Mm% 2 % 1.00/0.00 ~ 0.19 102.73| 3m%E#BZB| - ~ - - -] 100kN/mM%Z#% % 1.00| 12.64 ~ 13.43 102.73| 3mZE#BZ % -~ - - -
ZFhst 1.00/0.19 ~ 797 100.00[ x4t 000 ~ 797 1.93 10.34 Fhst 1.00] 5.00 ~ 12.64 100.00f Zhlust | 500 ~ 13.43| 1.93 10.34
4 100kN/mM%BZ 5 -l -~ - -|3m%EiBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
Fhst 1.00/0.00 ~ 6.92 87.70| #hrlst |0.00 ~ 0.00] 1.58 8.48 Fhst 1.00] 5.00 ~ 9.50 87.70| #h L4 | 500 ~ 9.50| 1.58 8.48
5 100kN/mM%BZ 5 -l -~ - -|3m%EiBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
zhst 1.00/0.00 ~ 7.27 92.56] #hLlst |0.00 ~ 0.00] 1.69 9.07 Fhst 1.00] 5.00 ~ 942 92.56| #hlls | 500 ~ 9.42| 1.69 9.07
6 100kN/mM%#BZ 5 -l -~ - -|3m%iBZ5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
Thst 1.00/0.00 ~ 7.03 89.27| #hrls 1000 ~ 7.03| 1.88 10.07 Thst 1.00] 500 ~ 9.10 89.27| #hbLls | 500 ~ 9.10| 1.88 10.07
; 100kN/m#%#8 2 % 1.00/0.00 ~ 0.14 102.02|3mZEBZ 2| - ~ - - -] 100kN/mM%#% % 1.00| 11.27 ~ 11.65 102.02|3m%E#BZ % -~ - - -
Thst 1.00/0.14 ~ 792 100.00| Zh st [ 000 ~ 7.92| 2.39 12.79 Thst 1.00] 5.00 ~ 11.27 100.00f Zh a5t | 500 ~ 11.65| 2.39 12.79
8 100kN/m%#82 % 1.00[{0.00 ~ 0.41 106.01|3mZEBZ 5| - ~ - - -] 100kN/mM%#% % 1.00| 10.55 ~ 11.65 106.01|3m%E#BZ 5 -~ - - -
Thst 1.00/0.41 ~ 8.19 100.00| Zh st [ 000 ~ 8.19| 222 11.87 Thst 1.00] 5.00 ~ 10.55 100.00f Zh a5t | 500 ~ 11.65| 222 11.87
0 100kN/mM%#8 2 % 1.00/0.00 ~ 0.64 109.55|3mZEBZ S| - ~ - - -] 100kN/mM%#% % 1.00| 10.65 ~ 12.45 109.55|3m%E#BZ % -~ - - -
Thst 1.00/0.64 ~ 843 100.00| Zhust [ 000 ~ 8.43| 227 12.13 Thst 1.00] 5.00 ~ 10.65 100.00f Zhlust | 500 ~ 12.45| 227 1213
10 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 3 -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 4.49 55.98| Zhrlst 1000 ~ 449 1.97 10.57 Thst 1.00] 500 ~ 5.20 55.98| Zhilst | 500 ~ 520 1.97 10.57
100kN/mM##BZ 5 ~ 3ImEHBRD ~ 100kN/m%E#8 % % ~ 3mEHBZD ~
Zh st ~ zhst ~ zh st ~ zhLst ~
100kN/mM##BZ 5 ~ 3ImEHBRD ~ 100kN/m#%#8 % % ~ 3mEHBZD ~
zh st ~ Zh st ~ zhst ~ zhLst ~
100kN/mM##BZ 5 ~ ImEHBRD ~ 100kN/m#%#8 % % ~ 3mEHBZD ~
zh st ~ Zh st ~ zh st ~ zhLst ~
100kN/ Mm% 25 ~ ImEHBRD ~ 100kN/ Mm% % % ~ 3mEHBZD ~
zh st ~ zh st ~ zh st ~ ZFhLst ~
100kN/mM##BZ 5 ~ ImEHBRD ~ 100kN/m#%#8% % ~ 3ImEHBZD ~
zh st ~ zhst ~ zh st ~ ZFhst ~
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